
Addition and Subtraction Practice Booklet Answers
1.	  

 
 
 

2.	 40,000
	 73,000 

3.	  
 
 
 

4.	 52,196 

5.	  
 
 
 
 

6.	 37 × 3 = 111
 	 4561 + 111 = 4672
	 4672 - 125 = 4547
	 4,547 stickers

7.	 2874 + 369 = 3243 
3243 - 481 = 2762 
2,762 games

8.	 375 × 2 = 750 
405 × 3 = 1215 
1215 + 750 = 1965 
3500 - 1965 = 1535 
1,535 buttons

9.	 £20.00 - £7.76 = £12.24 
£12.24 ÷ 4 = £3.06 
£3.06 
 
 
 
 

10. a)	    46,000
   	       53,000
   	       49,000
   	    + 50,000
	     198,000 people 

     b)     53,000
          -  45,600
              7,400 people

	

4 6 0 8

+ 3 5 9 7

8 2 0 5

5 5 5 9

- 1 4 7 8

4 0 8 1

69 + 383 = 452 393.7 + 58.38 = 452.08 

8,703 - 549 = 8,154  8,818.8 - 764.8 = 8,054

subtract 100 
then add 6  

add 6 then 
subtract 90

subtract 6 then 
subtract 100

subtract 4 then 
subtract 90 


